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3. PRACTICE FUNCTION NOTATION |

Let f(x) = x? —3x + 4.

3A. Find the value of f(2).

3B. Find the value of f(2 + h).

3C. Find the average rate of change between points (2, f(2)) and (2 + h, f(2 + h))

3D. For any constant a, find the average rate of change over interval (a, f(a)) and (a + h, f(a + h))

3A. Vo find the wvalve o f(2) we note +Fhat
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X = 2
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= L—, .\(} e L.!
= :2 :>
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PSS Class #:
[4. PRACTICE FUNCTION NOTATION

Let g(x) = 2%.

4A. Find the value of g(0). R

4B. Find the value of g(0 + h). L o |
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| A GRAPHING PIECEWISE FUNCTIONS

Consider the piecewise function below:

fx) =
< precc B3 3EX

Using this description, fill out the table of values below and then graph the function

Input Qutput _
y-axis
-6 -5 -4 -3 -2 -1 4~ 1 2 3 4 5 6
— 1 F(x) 32 32
l | = ST S AR LTS | 30 30
< o ] 2 28
E 26 26
A
§ : 24 24
: 22 22
e
x| 20 20
& -E i 18 18
L » | 16 16
3 2 H .
2 . 12 12
S |
- > 10 10
x | 8 8
| : \
< | 4 4
=1 2 2
[ y = 04 e > r-axis
-3 -2
1 ! » o—§—° -
=B -6
l ) 0 s L.‘ -8 -8
r V 10 -10
% -12 ~12
J ~14 ~14
J g | -
2\ > -16 ~16
b~ 18 ~18
2 O 20 20
~22 ~22
24 ~24
26 —~26
~28 ~28
=30 ~30
<99 ~32
-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6
z=0
' ; AN
On He next page, we g

Pe  Desmos. com Version of

e <ame graph.

Math 48A, Exam 3 '35pm - ‘:“\ZPM



' | . Fuach
PTO\DlCm 5~ G*‘aphmﬁ Pmccwz—c nCHon

- & <&

+
Q) {x<-116-2}

(~1,18)

W Label:

~

&

o Q {~1<x<32?-4}
E

(35)

v Label:

10

>

:

N

PP99pm - - S2pm




Name: Class #:

| 6. ANALYZE THE GRAPH OF A PIECEWISE FUNCTIONS |

The following is a graph of a piecewise defined function g(x).

Find the formula (rule) for each part of the function and the x-values for which it applies. Explain your
reasoning.
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[7. PRACTICE FACTORING USING THE AC-METHOD |
Use the AC-Method to factor each of the polynomials given below. For a reminder about using the AC Method
to factor a quadratic polynomial, check out the Factoring Review Sheet.

7A. 12x%+5x—2
7B. 9x* + 6x3 — 3x?
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l 8. PRACTICE FACTORING DIFFERENCES OF SQUARES
Remember the difference of square formula is given by:

(a*—=b?) = (a—Db)(a+b)

Factor each of the polynomials given below. Use the difference of squares formula.
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8B. 4m?-9
8C. 9x%2-16
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